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ZENBAKI OSOAK-KENKETAK

= = l Kalkulatu (ez utzi espaziorik zeinua eta zenbakiaren artean): ‘
(-5)-(-9)=( -2)-¢4=(C )
(+9)-(-9)=( ) (* 3)= {~11) ={ ) ERiE
(=)=t 13) = (3}t 1l)={ )

[ | (+14)-(-12) = ( ) (-3)-(-11)=( ) 2
(=B)-C19=( ) =4) ~l)=( )
(+5)-(+9)=( ) FEi=fp={ ) B
(+6)-(-10)=( (-12)-(+6)=( ) (EH i
(~8)~(-13) = ( ) (£0)- (~10)={ )

(* 18)==13)= ) (% B)s t )= ) ey
-19)-¢-8)=( ) (-2)-(-5)=( )
(E 19)-1-107=4¢ ) (% )~ |=11) =4 ) o i
3)=(+8)=( ) (-3)--12)=( )
(+7)-(+8)=( ) {~3) ~{® L) = )
(-15)-(+10)=( ) (EA)=(F = )
(F)==dd={ ) ) sfetu] = )
(-6)-(+7)=( ) (+11)-(-8) = ( )

e (#8)-69)=( ) (=7) s{=)=( )
(-10)-(-4) = ( ) (+2)-(+3)=( )
(+3)-¢-8=( ) (+2)-¢-3=(C )
(-7)-(+2)=( ) (=8) sf=4)= )
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